swajshAg

Round Series Suspension Wire Instruction

100 shown

Important

Item # Title
1 Suspension Ceiling Barrel
2 8G x 38mm C/S self-tapping screw
3 Suspension Ceiling Barrel Cap
4* Suspension Wire (1,2,3,4 & 5mtr)
5 Gripper Wire Lug
6 100 Round body
7 100 Round End Plate
8 8G x 35mm CS c/w 6G head
ltem # Title
9 100R Tilt bracket
10 Hexagon Nut M4
11 M4 x 4mm Grub Screw

Optional Tilt Bracket

Using appropriate fasteners to suit the mounting surface is the responsibility of the installer.
Units should be evenly supended to avoid the over-loading of suspension wires.
A maximum loading of 50kg is recommended on a single wire at any one time.
Type of protection: Class 1 Luminaire | Nominal Voltage 230-240V 50/60Hz

/ 2
A <
/)8 Wsell]
/ @
7 7 7 _ ‘
1 ™= 2 T10 Max .
29 |m m ' . .
AN (— p
& s el — N
Tool Less Optional Showing 100R Within 0.5m Join
Adjustment Timber Gyprock Metal plug Plastic plug Tilt Bracket Tilted or bend
10337-02-G

www.kliksystems.com - infoldkliksystems.com.au




100 Round Top Bracket Wall Mounting Instruction

swa:,sﬂg>| ﬂ>|

J‘] % 100
~———200 C/L

—— Top Wall Mounting bracket
c/w @5mm fixing Holes
Make sure brackets are
horizontally level when fixed.
Suitable
mounting
surface M4 Nylock Nut
:? M4 Star Washer
AN
X
N
/\’%
Fixings supplied
by others 100 Round
M4 Hex
\ head screw
8G Screw / v End plate
Important
Choosing an appropriate fixing to suit the mounting surface is the responsibility of the installer.
2000
Vil | [

v a

¥ Max.
iyl iyl Span

gae—" |
@ @ Within 0.5m Join
Timber/Concrete Gyprock Max Pivot or bend

10559-04-B
www.kliksystems.com - info@kliksystems.com.au



100 Round Hollow Box Bracket Wall
Mounting Instruction

@ 100

M
| |

M

swa:,sﬂg>| ﬂ>|

~~——104 C/L
Hollow Wall bracket
mounting plate
Make sure plates centrally
line up with hollow wall brackets
and that the plate is horizontally level
Fixings supplied by others
1 100R System c/w
hollow wall
2() 2 k brackets attached.
0 / %
~d N7
Suitable
mounting
surface Hole for

power entry

After plate is secured to
the wall, push and
shap system over plates.

Important

Choosing an appropriate fixing to suit the mounting surface is the responsibility of the installer.

10559-01-B
www.kliksystems.com - info@kliksystems.com.au



